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for i in range(4)

range(start, stop|, step])

range(0,4,1)
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for i in range(4): o Ry
forward(100) >0, 2
right(90) range(4,0,-1)
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O number = 2*3*4 7 BT
if number < 2: AND, OR, NOT

print("Number is less than two.")
else:
print("Number is not less than two.")



If, elif, else

bL~%biE 23 THCHL~BOE, WThTORITE~

True (E)
b >[ print("2 ¢9™") ]7

False({3)

B
1k O,J\E/True (“)>[print(" 1 &Dha L\")]f
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alse(f) >[pri nt("WFNTHER \,\")J

e

O number = 2*3%4
if number == 2:
print("2Td™")
elif number < 2:
print("1&U/h=0")
else:
print("WIF N THHUEEA.")
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, def actorl(n)

S| S5ZaWe, ERIL—7ICR5 # BERIEONE U IC & 2Rt

BIEEEZF > IcEHOERNBFIC if n ==
_ . o N return 1

PFRFOH U ZIIL—TTHERRTE D, At alse:

EHEEFEOCLEUDOAMNE LY return n x factorl(n - 1)
Bl S BESR, 7 ANy T def factor2(n):

:Hk:nX(n—l)X...X3X2X1 #for XLLCJ:DIKJ:IS%E_I_%I
B answer = 1

. for i in range(1l, n+1):
n! = { 1, ifn =20 answer = answer xi1

nx(n-—1), ifn>0 return answer
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n,_{1, ifn =0 Fp=0,F =1
¢« o ' . o
nx(n-—1)= ifn>0 F=F_ +F,_, (n>2)
def factqu(n): - def F1bonacc11( ) :
# BIRNOHUIC K SMEESTE # BREOEUICKZ 74 RF v FH3

: —_— . 1if n < 2:

1t n == 0: return n

return 1 else:
else- return Fibonaccil(n-1) + Fibonaccil(n-2)

return n *x factorl(n - 1) def Fibonacci2(n):
# forXXIT &K 7« M+ FHI

def factor2(n): if n<d -
# for XICKDEESTE return n
else:
answer = 1 a=1
for 1 in range(1l, n+1): $=1_ | o)
_ - or 1 in range(n-2):
answer = answer xi total = 2 + b
return answer b=3
a= total

return a
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from ColabTurtle.Turtle import *

initializeTurtle()
def koch(n, length):
if n <= 0:
forward(length)
else:
koch(n-1, length/3)
left(60)
koch(n-1, length/3)
right(120)
koch(n-1, length/3)
left(60)
koch(n-1, length/3)
if __name__ == ' main__ ':
speed(10)
bgcolor("white")
color("orange'")

penup ()
goto (250, 100) #B2 AZZE
pendown ()

right(90) # 1&EiRZ5[<7/CHICE

# JAviRHiEZ4oEr SB35

for 1 in range(4):
koch(3, 300)
right(90)

penup ()

home ()
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from ColabTurtle.Turtle import *
initializeTurtle()

def Sierpinski_gasket(n, length):
if n <= 0:
# CZEBEZLD

else:

Sierpinski_gasket(n-1, length/2) # —%z=3
forward(length) # Eff%=#<
left(120) # 120EFEKIC

Sierpinski_gasket(n-1, length/2)
forward(length)
left(120)
Sierpinski_gasket(n-1
forward(length)
left(120)

length/2)

-

1f _name__ == ' main__ ':
speed(13)
bgcolor("DarkRed")
color("Gold")
penup ()

goto(200,400) #2 AZiZE

pendown ()
right(90) # f&iRz5|<col

Sierpinski_gasket (5, 400

penup ()
home ()
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from ColabTurtle.Turtle import
initializeTurtle()

def binary_tree(n, length, angle):
1f n > 0:
forward(length)
right(angle)
binary_tree(n-1, length x 0.7, angle)
left(angle x 2)
binary_tree(n-1, length *x 0.7, angle)
right(angle)
backward(length)

1T  name == " maln
speed(13)
bgcolor("LawnGreen")

color("DarkGreen")

penup ()
goto(400,400) #E2 AZHEH)
pendown ()

binary_tree(8, 100, 30)
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length: — DK

length = sqrt(Z)

E# levy(length,n) =% Z % n=10DEE

BIAIIZEIEICED

Step 0 levy(v20) |———



length: — DK

length = sqrt(2)

4 levy(length,n) %= 2 % n=10D%a

—ADRI #1218

dl = length/sqrt(2)

e

=
BIRIFUM L
B =

forward(1)
left(45);




def levy(length, n):

1f n == 0:
forward(length)

else:
dl = length/sqrt(2) —LDRI%1//213
left(?7)
levy(dl,??) dl = length/sqrt(2)
right(?7?)

levy(dl,??) RO

length = sqrt(2)
n=10EH

e i
BIRIFUM L
2 =

levy(\/z,l) /) 00

forward(1)
left(45);
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Dragon FRFROFED E > K n=2,length=2 @ Dragon Hf#R

AT 700 2 AT 702 | //‘\\\
(n=0) T (n=2)
forward (2) ; Rl = "\
left (45) ;
2T T 4 left (45) ;
(n=1) forward ( (2/sqrt (2.0) ) /sqrt (2.0) ) ;

right (90) ;
forward ( (2/sqrt (2.0) ) /sqrt (2.0) ) ;
left (45) ;

L — L — L — L — L — L — L — L — [

left (45) ;
forward (2/sqrt (2.0) ) ;

right (90) ;
left (-45) ;
forward ( (2/sqrt (2.0) ) /sqrt (2.0) ) ;
right (-90) ;
forward ( (2/sqrt (2.0) ) /sqrt (2.0) ) ;
left (-45) ;

left (45) ;

right (90) ;
forward (2/sqrt (2.0) ) ;
left (45) ;
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